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L293D Pinout

| L PIN£16 - Vood
PIN # 2: _Inputq > 3 2:1: PIN # 15 : Input4
PIN # 3: Ouly > # W <3 PIN # 14 : Output4
PIN # 42 GND b <JPIN#13: GND
PIN # 5: GND => & b <o RINE12: GND
PIN # 6: _Output2 > ¥ B < PIN# 11:Output3

PIN # 7: _input2 > & ¥ < PIN # 10 : Input3
PIN # 8 vee2 = 9 ¥ < PiIN#9: Enable 3,4

L293D Animation L293D IC
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A1a9 analogWrite( )
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Pulse Width Modulation

0% duty cycle -> analogWrite{ 0); 50% duty cyde -> analogWrite 127);
v oV
ov | | | | ov |
20% duty cycle -> analogWrite( 51); 5% duty cyde -> analogWite( 191);
oV
H H H ‘ oV | - - -
30% nzluty cycle - andu;lWrrta{??] 1009 duty cyde -> analogWrite 255);
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analogWrite(pin,value);

pin : mnewmvnesavesueia Arduino
value : mad lmasvesdyananuy PWM fidsznine 0 60259 (anweziden 8 1a)
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analogWrite (10,128); fedsdnan PWM masdlufia 128 seniinesa 10
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20% duty cycle -> analogWrite{ 51);
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Pulse Width Modulation
0% duty cycle -> analogWrite({ 0);

50% duty cyde -> analogWrite 127);

75% duty cyde -> analogWrite{ 191);

100% duty cyde -> analogWrite 255);
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A1g9 map( )
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